Metric Length Conversion

Find the equivalent measures.

1 km = m 3km3l12m=
4 km = m 13 km27 m=
7/ km = m /7km123m=
km = 18,000 m 22 km 22 m =
km = 17,000 m 915km8m =
Im= cm 3mbS6am =
3m= cm 7m45cm =
80m = cm 67/ m7 am =
m = 12,000 cm 14dm8ccm =
m = 2,400 cm 120m 46 cm =
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Metric Length Conversion

Find the equivalent measures.

1 km = 1,000 m 3km312m= 3,312

4 km = 4,000 m 13km 27 m =(13,027
/7 km = 7,000 m Zkm 123 m=|7;123
18 km = 18,000 m 22 km 22 m = 22,022
17 km = 17,000 m 915 km 8 m = 915,008
I m= 100 cm 3m>56cm= 356

3 m= 300 cm /7 m45 cm = 745

80 m = 8,000 cm 67 m7cm= 6,707
120 m = 12,000 cm 14m8cm= 1,408

24 m = 2,400 cm 120 m 46 cm = 12,046
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